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1. ¥ ifrg 4 3R B, 3x3 &ife & aegg

£ 3R |A|=2T}_5- M |B]=—, A

729°
|2B(adj(34))| & #F 1% ?

(a) 27
27
®

27
© i

@ 1

.afe z < aft ge g 3R
iB+2z+i=0, W&l i=+-1,

a (|z|+1)2 & WA TR ?\Q®

S\
e §z§
\Q‘Zr
(b) 4 @Q
N
() 81
@ 121

. |} FHT 0, 1, 4, 5 H WART &K, 3T H
grrafa feg fomm s 1 = w s
et aft AT & ANTES T ® 7

(a) 44440
(b) 46460
(c) 46440

(d) 64440
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4.qﬁx,y3ﬂt z,@ﬂ?ﬂ'ﬂ{aéﬁf

xy + yz + zx N HF HTE ?
(@ 0
(®) 1
(© 2
@ 3

. T& gey % 7 Reder # (4 wfemm sk

3 gew) | SEh gon & st 7 Reagr
£ (3 wfemmg sfk4 gew) | A M
3 wfgemsil 3k 3 qest @ fFad yoR
¥ freifa o g ® aifs S @
3 Reder Tew & B 3k 3 fieagr SEeh
ol & & ?

(a) 340
(b) 484
(c) 485

(d) 469

. TF B POR T vaR ® f& s

3 fag PO w1 w f&a €, 4fag QR Yo
waRsfgrRP YT R @ § 1w
figell @ ¥ B e WA R P
ST T | 3| WER S g Bt
& g et R 2

(a) 205
(b) 206
(c) 215

) 220
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1. Let A and B be matrices of order 3x3.

If |4| = B
|4 \Eand| |= 9 , then what
is the value of |2B(adj(34))| ?

(a) 27

(b) 24—

(© 5

@d 1

.If z is any complex number and
iz3+zz—z+i=0,wherei=\/—_1,then

what is the value of (,z|+1)2

s<\®
@ 1 &6
\Q‘b-
(b) 4 QQ
© 81 S
@ 121

. What is the sum of all four digit
numbers formed by using all digits
0, 1, 4, 5 without repetition of digits ?
(a) 44440
(b) 46460
(c) 46440

(d) 64440

Download all NOTES and PAPERS at StudentSuvidha.com

4. If x, y and z are the cube roots of unity,

then what is the value of xy + yz +zx ?
(@ o0
(b) 1
(c) 2

d .3

. A man has 7 relatives (4 women and

3 men). His wife also has 7 relatives
(3 women and 4 men). In how many
ways can they invite 3 women and
3 men so that 3 of them are man’s
relatives and 3 of them are his wife’s
relatives ? :

(a) 340
(b) 484
(c) 485

d) 469

. A triangle POR is such that 3 points

lie on the side PQ, 4 points on QR and
5 points on RP respectively. Triangles
are constructed using these points
as vertices. What is the number of
triangles so formed ?

(a) 205

(b) 206

(c) 215

(d) 220
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7.af% logya=p, logge=2p IR
A 8
logre = 3p, A (ace)? Torash S=R R ?

(a) bd*?
(b) bdf

() bd*f
(d) b2d?*f?

. gfe aefteor

a0+a}x+a2x2+ayt3+x4=0%"§
—2 3R 3 &, el ag, @y, dp, a3
tes &, Pt 3 & F-an

R

(@ a;=a3=0
(b) a2=03ﬁ'(a3=—5 g\\QQ
() ap=6,a3;=0 &2’

(d) a = Oaﬁi@?

LA W 2, 3R 2, 3@ WER H QA
wffm semd §@ X2 @

2172

Re[ J+1ﬁ?ﬂ%iﬂﬁt%?

@ -1
(b) 0
© 1
@ 5

RRAN-B-MTH - A

B

10. afe 26! = n8k, W&l k 3R n GAYUTTS €,

Al k 1 Al 7 TR ?

(@ 6

(b) 7

(c) 8

@ 9

11. G0 HIfE n & o oA ATel

A5 B % wed § ffafen womi
Wﬁﬂiiﬁﬁq:

1. adj(4B) = (adjA)(adjB)

2. adj(AB) = adj(BA)

3. (4B)adj(AB) — |4B|I,, n Fife &
TH A AR ©

Itk FEAl | & o wd ® 7
(a) r$ it 7

(b) A TH FAA

(c) ¥a T FI4

(d) |t = FaA
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7. If logya = p, logc = 2p and logge = 3p,
1

then what is (ac:e)F equal to ?
(@) bd*f?

(b) bdf
) bd*f
@ v’d’f?

I3 & i —'JE and \/5 are roots of the equa-
tion @y + ax + apx® + ap® + x4 =0
where a,, a,, a,, a; are integers, then
which one of the following is correct ?

(a) )= Q3= 0

(b) a,=0 and a3 =-5 6@

)

N

(d) a,=0 and a2=®66
§§

. Let z; and z, be two comiplex numbers

() ap=6,a;=0

Z) +22

such that =1, then what is

1=
Z]

Re| — | +1 equal to ?
Zy

(@) -1
®) 0
(c) 1

@ 5

5

10. If 26! = n8*, where k and n are positive

1.

integers, then what is the maximum
value of k£ ?

@@ 6
() 7
©) 8

d 9

Consider the following statements in
respect of two non-singular matrices
A and B of the same order n :

1. adj(AB) = (adjA)(adjB)

2. adj(AB) = adj(BA)

3. (AB)adj(AB) — |AB|I, is a null
matrix of order n

How many of the above statements are
correct ?

(a) None
(b) Only one statement
(c) Only two statements

(d) All three statements

A — RRAN-B-MTH
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12. Ffe n & FHAvia AR 4 & del (© 10(1 - ), 10(10 - w?), 1000

# frafafea wu@t ) fer $ifte
d (1+w), (10 + w?), -1

1. A(adjA") = A(adj4)"

2. A A2 = 4, AR n 7 T 15. (1+0)* + (1 - iy* foresn =mreme @, et

ATE ® i=-1%7?

3. AR A3 = A, NAFHE n T v () 4
2

By () 0
I9YTh FIA1 H § FA-9 g8 ? S
(a) haer 13Kk 2 T
(b) Hae 23R 3

16. %ife 3 % w& foww wafia smegg 4 &
(d 1,23%3 §<®® : hrfore ;
Q§’ 1. |t foaot srama = € |
13. R 3kt <t et Hqul - FeaTd ¥
IR 2. e ¥ Wi et st @
(a) 625 IR 7 © |
(b) 500 3. A i 3meg ® |
G B T o 3 R R 7
d
i (a) e 13K 2
14. 7% 0 # 1, 0% & w0 &, T

(z—100)* + 1000 =0 Bt T & ? (b) S 23K 3
(@ 10(1 - ), 10(10 — »2), 100 (c) Fael 13K 3
(b) 10(10- @), 10(10 - ?), 90 @ 1,23%3

RRAN-B-MTH - A 6
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12. Consider the following statements in (¢) 101 — w), 10(10 — ®?), 1000
respect of a non-singular matrix 4 of

frdeen @ (1+a), (10+?), -1
1. A(adid™) = A(adjA)”

15. What is (1 +i)*+(1-i)* equal to,
2. If A% = 4, then 4 is identity matrix st

of order n where i =+/-1?
3. If 4% = 4, then A is identity matrix (a) 4
of order n
: A (b) O
Which of the statements given above
are correct ?
() 4
(a) 1 and 2 only
(d). -8

(b) 2 and 3 only

(c) 1and3 only 16. Consider the following statements in

respect of a skew-symmetric matrix 4

(d 1,2and3 Q of order 3 :
S
13. How many four-digit 1 numbers 1. All diagonal elements are zero.
are there such that a the digits are
?
Foval N 2. The sum of all the diagonal
@ 625 elements of the matrix is zero.
(b) 500 | 3. A is orthogonal matrix.
(c) 400 Which of the statements given above
are correct ?
(d) 256

(a) 1 and 2 only
14.If o #1 is a cube root of unity,
then what are the solutions of (b) 2 and 3 only
(z-100)*+1000=07?
(@) 10(1 - ), 10(10 — ®?), 100 (c) 1and 3 only
(b) 10(10 - w), 10(10 — w?), 90 (d 1,2 and 3
7 A — RRAN-B-MTH
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17.

18.

19.

IF 1, 2, 3, 5 H FAN K A
grgfa feg femr swosife e
A St € | 3 @ foRaet d@md 4@
formfora il 2

(a) 120
(b) 24
) 12
(d) 6
afe 2120y 7 & fawfsm form s
AN FAT BRI ?
(@ 1
3
(b) é§
Q
© 5 &6
£§
d 6 S
N
n & T W & foo axfie
C(9,9) C(Y3)ny ¥10,n-2)
c(1y6) C11,5) c(12,n) |=0,

C(m,7) C(m,6) C(m+1,n+1)
Ydh m>n & 0w 2

(a) 4
() 5
©) 6

(d 7

RRAN-B-MTH - A

20. afc ABC U B &, a1 arfrs

21.

22.

cosC sin B 0
tan A 0 sin B | <A1
0 tan(B+C) cosC
HA T ?
(@ -1
) 0
() 1
d 3

gfafsz 1, 2, 3, 4 &1 WR W T3S
srege #-4 wlafseat o fran fie

e =Y o1 gEY § (TREhy
Jgul€) ?

@) 72
(b) 216
(c) 254
(d) 768
AA AT A={xeR - 1<x<1} % |
frefafaa & s-a1/dA-8 40 @@
R T ATESIG FAT 8 /€ ?
L f) = x|
2. g(x) = cos(mx)
d9 fiu T Fe w1 WERT W wE SN
gfm
(a) a1
(b) a2
() 1323l
(d Far 1,982
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17. Four digit numbers are formed by

18.

19.

using the digits 1, 2, 3, 5 without
repetition of digits. How many of them
are divisible by 4 ?

() 120
(b) 24
© 12

@ 6

What is the remainder when 2!20 is
divided by 7?

(@ 1
() 3
®
© 5 N
N
(d 6 $®Q
3

For what value of n is the determinant
c9,4) C(9,3) €(10,n-2)
Cc(11,6) C(1LS) J C(12,n) |=0

C(m,7) C(m,6) C(m+1,n+1)

for every m>n?
(a) 4
(b) 5
) 6

@ 7
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20. If ABC is a triangle, then what is the

21.

22,

value of the determinant

cosC sin B 0

tan A 0 sinB | ?

0 tan(B+C) cosC

(a -1
() 0
(©) 1
d) 3
What is the number of different
matrices, €ach having 4 entries that can

be formed using 1, 2, 3, 4 (repetition is
allowed) ?

(a)~72
(b) 216
(c) 254
(d) 768
Letd= {x € R: —1<x<1}. Which of

the following is/are bijective functions
from 4 to itself?

1. f(x) = x|x|
2. g(x) = cos(mx)

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

- (c) Both 1 and 2

(d) Neither 1 nor 2

A — RRAN-B-MTH


http://studentsuvidha.com/
http://studentsuvidha.com/

25.

23. 9 +fifvre R foew st (<1, 1) R &

&y ® 3R R={(x,y):|x+y|<2}

T far o g @ fFeafofe #

HI-91 el § ?

(a) R, @gF & | A o w\fiE, 9 &
THhTE ©

(b) R, I IR gafdd § W Hehme
T ©

(c) R, &g 3R TFma § W wafa
T

(d) R T godal d@ey ©

Tt oft iw sifes w==at 4, B, C
F forg
(AUB)—{(A-B)UB-A)UANB)}
foraes s © 7

&
(a) TF wq==a S\\Q
®) 4 N
O
N
(©) B N

d) (4 UB)~&QHB)
afs Brogst ABCH §5@a, b, ¢ ®,

a’> bsind-“csinA
bsin A 1 cos A

csindA cosA 1
feraes sex & 7

() I |
(b) Pt 1 g
(©) Prgw =1 i
@ ?+b+c?

RRAN-B-MTH - A

10

26.3f¢ a, b, c, APH ®; b, c,d, GPH §;

2%

28.

c,d,e,mﬁ%,?ﬁﬁﬂﬁﬁﬁﬁ%
a1 /- wd 2/E 2

L a,cﬁ? e, GPH %

(¢) 1323+t

@ Far1,T82

log(x — 1) = log,(x — 3) & &<l <l GEAT
fereit 2 2

(@ T

(b) TH

() 3

(d) o=

xay>1%'|%-lq,ﬂ1?3ﬂ'ﬁﬂ'{

Iog,['—x-J +Iog)(Z] =k @ k& WA
y b

s R e M B e asar ¢ ?

(@ -1

1
(b) =
© 0
@ 1
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23. Let R be a relation on the open interval
(-1, 1) and is given by

R={(x,y): |x+y|<2}. Then which
one of the following is correct ?

(a) R is reflexive but neither sym-
metric nor transitive

(b) R is reflexive and symmetric but
not transitive

(¢) R is reflexive and transitive but
not symmetric

(d) R is an equivalence relation

24. For any three non-empty sets 4, B, C,
what is
(AUB)—{(4-B)U(B-A)U (4N B)}
equal to ?
(a) Null set

() 4
) B

\\®
\b
Q

25. If a, b, c are the sides of triangle ABC,
then what is

2

a bsinA csin A
bsin 4 1 cosA| equal to?
csindA cosA 1
(a) Zero

(b) Area of triangle
(¢) Perimeter of triangle

(d) a®+ b+ c?

26.

2%

28.

If a, b, ¢ are in AP; b, ¢, d are in GP;
¢, d, e are in HP, then which of the
following is/are correct ?

1. a, ¢ and e are in GP

2. =, &, —aemGOP

Q| =
0 |-
w | =

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

What is the number of solutions of
logy(x— 1) = logy(x—3) ?

(a) Zero
(b) One -
(c) Two
(d) Three

Forx=zy>1,

x Y
let Iogx[——) + Iog)(—] =k,

then the value of k can never be equal
to

(a) -1
1
(b) =5
(c) D
d 1

A — RRAN-B-MTH
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sin20 2sin?6-1 0
29.3f¢ A=|cos20 2sinBcosd 0

,ar

0 0 1
frafafaa & & S-w1/a9-8 Fa
R/ ?

1. 4= adj4
2. Afqww wfi smege @
3. A4 =4T

Ao fow T Fe W@ W T IW
qfg:

(a) ae 1

®) 132 N
N
(c) 133 Q‘§)
&
@ 23k3

=5
30. (1— xz)m[z- xz—iz] & wEor § x10
X

T VI F9T § ?
(@ -1
(b) 1
() 10

(@) x'0% e @ sfere @ g

RRAN-B-MTH - A

31.17%(mx+3n %ﬁmﬁmw«:%%, |
A mn T TR 7
@@ -3
(®) 3
© 6

@ 12

32.9R a4, b AR e@@>0,c>0)GP ¥ §,
A qHE ax? + bx + ¢ =0 % deH H
frafafed = e $iftrg:
1. efteor & srftrerfera o= € |
2. WHIERT % T H FIE 10
& o @ W TH G ¢ |

3.aﬁaﬂw%=§»ﬁaﬂw(:—a
I

9T FE H W HH-9 TE R 7
(a) wae 132
(b) Faw 23R 3
(c) *ae 133

(d) 1,233
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i : . If the 4th in th i
sin20 2sin?0-1 0 31. If the term in the expansion of

n
29. If A=|cos260 2sinfcosf® 0|, then (m+l] 4 f, then what is the value
0 0 1 Ep &
of mn?

which of the following statements
i ?
is/are correct ? @ -3

.4t = ac{jA (®) 3

2. A is skew-symmetric matrix (c) 6

3. A 1=4F d) 12

Select the correct answer using the

. > 1 A
code given below : 32.1fa, b and ¢ (@ > 0, ¢ > 0) are in GP,

then consider the following in respect
of the equation ax® + bx+c¢=0:

(a) 1 only
1. The equation has imaginary roots.
(b) 1 and 2 Q
gg\g 2. The ratio of the roots of the
d3 D equation is 1:® where @ is a
i Q‘@ cube root of unity.
N
(d) 2and3 @ 3. The product of roots of the
: 2
tion is | — |.
30. What is the coéfficient of x!© in the e (az]
-5
20 1
ansion of (1-x2) | 2-x*-—-| ?
st e ( 8 ) ( 2 xz) Which of the statements given above
are correct ?
-1
@ (2) 1 and 2 only
L8 (b) 2 and 3 only
(© 10 (¢) 1 and 3 only
(d) Coefficient of x'° does not exist (d) 1,2 and 3

13 A — RRAN-B-MTH
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- 33.3f x & wit pis wE & fog = ﬁcoslm—smlwmwé?

X%+ mx +n T qUiies ®, @ femferfaa sin25°co0s25°
F H-8 wel § 7
(@ 1
L.mT& ?
m TTEF ®) «/5
2. n'TE I € © 2
H¥ fow T He W W@ W T Iw @ 4
gf
(a) a1 37. (sin 9° - cos 9°) Terardh Sr=R ® ?
(b) Fae 2 “ 5-5
a — et —
© 13R23m 20
d) TA 1,982 x
@ e 52J§
34, (x+yP(x -y F fgug wewr A
| 2 5-4/5
WWW&H%L\L&JW © 2
% %
T ? S 5-45
O @
(a) 1 QQ 4
(b) 2 S
38. afe wa Bt ABC #, sin’4 + sin®B +
© 4 sin®C = 3sind sinB sinC, @ GRfre
d 8

a b e

b ea WWW%,Gﬁa,b,c

35. 9 WfT A4 ={1,2,3,4,5) R

c a b
@ 10 (@) at+b+c
(b) 20 (b) ab+bc+ca
(c) 30 (©) (a+b)b+c)cta)
(d 32 d o

RRAN-B-MTH - A 14
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33.If x>+ mx+n is an integer for all 3 cos10°—sin10°

integral values of x, then which of the 36. What is ATy equal to ?
following is/are correct ?
1. m must be an integer o
2. n must be an integer 2 ®) 3

Select the correct answer using the © 2

code given below :
(d) 4

(a) 1 only

() 2 only 37. What is (sin 9° — cos 9°) equal to ?

(c) Both 1 and 2 o 5—/5

(d) Neither 1 nor 2 £

34. In a binomial expansion of oY= V3
(e + PPl —yy, ¢
the sum of middle terms is zero. What
2 5=al5
is the value of {%J ? \Q® © 2
y (&\% -
@ 1 N\ @ J5-5
S 4

(b) 2

) 4 38.If in a triangle ABC, sin®4 +sin’B +
sin’C = 3sinA sinB sinC, then what is

(d 8

a'h ¢

the value of the determinant ;
35. Let A= {1,2,3,4,5) and B = {6, 7}. e value of the determinant |b ¢ a

What is the number of onto functions ¢ ab
from A to B ? where a, b, c are sides of the triangle ?
(@ 10 (@ atb+ec
(b) 20 (b) abjl-bc+ca'
(c) 30 () (@a+b)bto)cta)
(@ 32 @ o

15 A — RRAN-B-MTH
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39. af¢ coslx = sin"lx, @ frfafaa #

40.

41.

H-AT WE © ?
(a) x=1

1
(b) I-E

r;
(c) .wc—\/‘5

(d) x=—1-—

V3

(sin@ — cosf)? = 2 & Tl d HEAT
ferat 8, SRl <0< 7 ?

(a) Foq TH
(b) Fad @

(0 WX

ABC W& Brw =@ yaR-® & @

C =600, q 984008 B s

37

®7?

(@ 2

) V2
© 1

@ %

RRAN-B-MTH - A

16

42. J15+cotz(§.—2cm'I 3) fras ELICES

43.

44.

27

(a) 1
(®) 7
(c) 8
@) 16

sin10°-sin50° + sin50°-sin250° +
sin250°-sin10° FF-HE e SR & ?

@ -1

7
O

© 35i1110°

o _3co:]0°

(3 {252) o v
g7

=

® 7
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39. If cos 'x = sin”'x, then which one of . o7 3
the following is correct ? 42. What is _|15+cot Z_zmt 3
@ x=1 equal to ?

(a) 1
1
®) x s ®) 7
(c) 8
1
¢) x=— @ 16
© 7
43. What is the value of sin10°-sin50° +
1 sin50°-sin250° + sin250°-sin10° equal
) x=0 to ?
& 1

40. What is the number of solutions of @) 2

(sin@ — cos@)? = 2 where -t <@ < 7 ?

AR
(a) Only one (b) 4
(b) Only two ©) 3sin10°

$ 4
R

c) Four
5 ‘2§§ @ 3810
(d) No solution ‘Q\Q 4

$

41. ABC is a triangle such ‘that angle 44, What is tan'l[-‘i]—-tan'l(aﬁb)

C = 60°, then what isﬁ‘i;i'_%B kY
am( ]
E w
equal to ? ey
(a) 2 n
® 5
() 2 g
(© tan”!| 5—
(c) 1 a‘+b
1 i _1( 2ab ]
d —= D tanT [ e—
@ | omite
17 A — RRAN-B-MTH
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45.

46.

47.

Frafafaa & & fore oRfRRY & siafa,
FHTEHO
(cosp —1)x2 + (cosB)x +sinf =0 #
x & el0, 7] F fog v arafes g
27
(a 1-cosp <0
(b) 1-cosB <0
(¢) 1-cosp >0
(d l1-cosp=0
Prost ABCH, 4B =16 cm, BC=63 cm
- HRAC=65cm® |
cos 24 + cos 2B+ cos 2C T HIF T
g2
(@ -1
®) 0 S(\Q®
S
®
(© 1 D
N\
e S
65
ey 5z
ok 101755 T 4
@l f(@) f(B) T A T ?
1
(a '“5
1
(b) 2
(c):1
@ 2

RRAN-B-MTH - A

48. af¢ tana 3R tanp Gt
2—6x+8=07% T %, ar
cos(2a+2f) N HF T § ?

13

75

13

85

17

85

19

85

(@
(®)
©

(d)

49. tan 65° + 2tan 45° — 2tan 40° — tan 25°
6 HqH | ?

(@ o
(b) 1
(© 2
(d) 4

50. frafofaa saat w fmr 6ifto .

1. @& B 4BC #, afe
cotd-cotB-cotC>0, At Fryst wm

iy Brgs g |

2. @& P 4BC #, afy
tand-tanB-tanC> 0, @ By =
siftrer @ity Progst |

IUATH AT § q RH-A1 /-0 G
/27

(a) Faa 1

(b) & 2

(c) 1323t

(d) FTar 1,982

18
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45.

46.

47.

Under which one of the following
conditions does the equation

(cosp — 1)x2 + (cosf)x +sinf =0

in x have a real root for B€[0, 7] ?
(@ l-cosfp <0

(b) 1—-cosp <0

() 1—cosp >0

(d 1-cosp =0

In a triangle ABC, AB = 16 cm, BC =
63 cm and AC = 65 cm. What is the
value of cos 24 + cos 2B + cos 2C ?

(a) -1
(b) 0
~
© 1 &5
76 N
(@) = QQ®
If £(6)= = andai+ =T,

then what is the value of f(a) f(B) ?

1

(a

1
(b) =

() 1

@ 2

Download all NOTES and PAPERS at StudentSuvidha.com
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48.

49.

50.

If tana and tanf are the roots of the
equation x2—6x + 8 =0, then what is
the value of cosQa +2p) ?

13

® 75

13

®) 33

17

© 35

19

@ =

What is the value of
tan 65° + 2tan 45° — 2tan 40° —tan 25° ?

(@).0
(b) 1
).-2
(d) 4

Consider the following statements :

1. In a triangle ABC, if
cotd-cotB-cotC >0, then the tri-
angle is an acute angled triangle.

2. In a triangle 4BC, if
tanA-tanB-tanC > 0, then the tri-
angle is an obtuse angled triangle.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — RRAN-B-MTH
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S1.

52.

53.

afe g2 +32+ 2x + 6y + 1 = 0 T g
(a, b)% Sﬁ?ﬁmﬂc%, A a?+ b2+ 2
A T ?

() 19

(b) 18

(c) 17

@ 11

ok @, -1, .20 @ 1<) TR
x24+y2+ 22+ 2ux + 2vy + 2wz — 1 =0
% W F o fog € A utvrw
forerer se R 7
(@) -2
(b) -1
(c) 1

d 2

xy-gAad | g0 x = 5 gRT frefia
frgait &t e @

(@) A

(b) T=

(c) al

(d) I¥Faa: I

RRAN-B-MTH - A
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54.

S5.

56.

Al TG 26— 3y + 62+ 4= 0K
gt (Aider) & Rs-aams
<l,m n>%, ?ﬁ49(712+m
A FETE ?

Z)W
(@ 0
(b) 1
(c) 3
@ 71
(1, -1, 2)F e g @ s
fg-gmuia <3, 2, 2> ¥, wwaw

x#2v% 3z = 18 W Tt § | ar 3k
qHas 1 whog fag w=r € 2

(a) 4,4,1)
®) @ 4, 1)
© (4 1,4)

d (3,47

afs (1, 0, 0), (0, 1, 0) K (0, 0, 1) &

TR ATt FHae h qA-fg (origin to
theplane)@fﬂaqﬁp% ar 3p? fras
R ¢ 7

(a) 4
(b) 3
(© 2

@ 1
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51. If (a, b) is the centre and c is the radius
of the circle x2+)2+2x+6y+1=0,
then what is the value of a? + b* + % ?

(a) 19
(®) 18
(c) 17

@ 11

52. If (1, -1, 2) and (2, 1, —1) are the end
points of a diameter of a sphere
x2+y2+zz+2ux+2vy+ 2wz —1=0,

then what is # + v+ w equal to ?

(@) -2 Q
K\Q
) -1 &6
Q\@
© 1 §§
@ 2

53. The number of points represented by

the equation x =5 on the xy-plane is
éa) Zero
(b) One

 (¢) Two

(d) Infinitely many

21

54.

S5,

56.

If < I, m, n > are the direction cosines of
anormal to the plane
2x—-3y+6z+4=0,

then what is the value of

49712+ m? —n*) ?

(@) 0

(b) 1

(© 3

@ 7

A line through (1, —1, 2) with direction
ratios #< 3, 2, 2> meets the plane
x +2y+ 3z = 18. What is the point of
intersection of line and plane ?

(@ 44, 1)
(b) 2,4, 1)
© 41,4

d G, 47

If p is the perpendicular distance from
origin to the plane passing through
(1, 0, 0), (0, 1, 0) and (0, O, 1), then
what is 3p? equal to ?

(@) 4

(b) 3

() 2

(d) .1

A — RRAN-B-MTH
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57.‘1&@?@1%&55—%<1,m,n> (c) xsin@ — ycosh = 0
WG [+ 2m+n=0, 21— 2m+3n=0%

S 8, W2+ m?— nd AT TR ? (d) xcos@ — ysinf@ + 1 =0
1
@) 101 60. 3 fag P 3tk Q@1 y=2x+ 3 R fRr
€1 % qm fag P ok @ fmelt s
o 2 fog R(1,5) ¥ 2 = & g w ¥
101 P 3R Q fagait & s =1 € 2
41
©): = 2 4 2 4
101 (a) [1+—5—, 5+@}’(1_7§’ 5--E
92
d) —
101 > 4 B |
ol s i) (%)

58.3fc ws W W@, x + 2y — 1 = 0 3K
2x—y~1=03:@|3ﬁa?‘ﬂﬁ|%?;ﬁ|§
3 fe o ¢ ot Pt ) ©
Aaﬂtﬂmﬁmﬂé,a‘r@%mﬁg
T @I T ? \Q‘Zr
(

S d
@ 3x+y=108° -

() x + 3y = 10z
61. afs feft af it & yoimd, 20 +y -3 =0

(€) 3x+y=10 - AR 4x+2p+5=0 @mit | e
Al 30 99 SR a9 S T 7

(@ x+3y=10
59. g (-sin6, cosh) ¥ TR TRA AT e sk

ﬁ{}@Txcosﬂ+ysin6=9W'éHW ®) 615

TG 1 GHIGOT F97 § 7 )

(a) xsinf — ycosh — 1 =0 (c) 625

(b) xsin® — ycos® + 1 =0 d) 635

RRAN-B-MTH - A 22
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57.

58.

9.

If the direction cosines </, m, n > of a
line are connected by relation
l1+2m+n=0, 2]1—2m+ 3n =0, then
what is the value of 12 + m? — n2?

(@)

o)~

41
© o1
%

@ Tor

If a variable line passes through the

point of intersection of the lines

x+2y—1=0and 2x — y—l 0

and meets the coordmate

A and B, then what 1s \ocus of
s >

the mid-point of 4B \Q '2)-

@) 3% + y=10®$
(b) x + 3y = 10xy
(c) 3x+'y=10

(d x+3y=10

What is the equation to the straight
line passing through the point

(—sin@, cos@) and perpendicular to the
line xcosf + ysin@ =9 ?

(a) xsinf — ycosf — 1 =0

(b) xsinB — ycosf@ + 1 =10

Download all NOTES and PAPERS at StudentSuvidha.com
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60.

61.

(c) xsinf — ycos@ =0
(d) xcosf — ysinf + 1 =0

Two points P and Q lie on line
y=2x+ 3. These two points P and Q
are at a distance 2 units from another
point R(1, 5). What are the coordinates
of the points P and Q ?

If two sides of a square lie on the lines
2x+y—3=0and 4x + 2y + 5 =0, then
what is the area of the square in square
units ?

(@) 605
(b) 615
©) 625

(d) 635

‘A — RRAN-B-MTH
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62. ABC w& iy ® ot 4 & Frdares
(3,5) ® | 4B 3R AC ot & wem fog
FAY: (-1, 2), (6,4) R ¥ | Pt 4BC

= fou U Fe W vEE R Ed IW
T :

F e & v = € 2 (a) ¥aw 1
B 41l (b) ¥ 2
(@ 5’3)
(c) 13K 2gmi
(53
gt @ TA1,TR2
8
o (2’ 5) 65. Srdg i Iokgan 1.8 9 7y @ *
s R A TfiE 9 S T e
) (2-2] @At & Sfi &1 T 90° ¥ ?
1
63. ABC'T% Jehnita, wfiarg Bt # | O
T SR Y9G AB IR AC @
7x—y~3=03ﬁ'{x+y_5=0q-{f?qa b) 1
&1 AR = A o Fe 2
7t cotf) faes w2 7 8
1 ‘Z§) (© ¢
@ 3 $Q\Q V3
1 N 1
® @ 75
2
© 3 66. 7 R 7 =i- f+k sk
@ 2 b=i+2j-k 1 AR ax(Bxa)=
ai-Bi+yk, @ a+ p+y F AE F1
64. TEET )2 = 8x ¥, W R fom @ fig R |
P& A gt 8 s ® | Frefefem .
3 3 F-w /- w2/ @
(b) 7

1. P& fdaras (6, 4«/5)?! T &

2. waeg & fooar & p & el g
8 TS ®

RRAN-B-MTH - A 24
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62. ABC is a triangle with A4(3,5). The Select the correct answer using the

mid-points of sides AB, AC are at code given below :
(-1,2), (6,4) respectively. What are
the coordinates of centroid of the (a) 1 only
triangle ABC ?
| 8 11 (b) 2 only
@ |33
(c) Both 1 and 2
T 7 : >
(b) (5, 5) (d) Neither 1 nor 2
© [2 __3_J 65. What is the eccentricity of the ellipse if
® 233 the angle betweer the straight lines
joining the foci to an extremity of the
8 : is i °9
(d) (5’ 2) minor axis is 90° 7
- - - 1
63. ABC is an acute angled isosceles (a) 3

triangle. Two equal sides AB and AC
lie on the lines 7x—y-3=0 and

x+y—5=0. If 0 is one of the equal (b) 1
angles, then what is cotf equa@? 2
1 5\\
@ 3 & 1
NG © T
g #
® 3 N :
i 2 i
3
82 66. Let @=i-j+k and b=i+2/-k. If
64. In the parabola y*>=8x, the focal ax(bxa)=ai- Bj+yk, then what
distance of a point P lying on it is is the value of a+ B+ y ? :
8 units. Which of the following state-
ments is/are correct ? (@ 8
1. The coordinates of P can be
(6, 4\[5) (b) 7
2. The perpendicular distance of P (c) 6
from the directrix of parabola is
8 units. (d 1
25 A - RRAN-B-MTH
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- 67.

69.

gfe 2 zos ofm & afty 27 &
mzr—,aj%w IR 4k & @
Rﬁﬁmem%a’rsﬁvﬁw%ﬂﬁ
T8 ?

@ (1,42, 1)

®) 1, -~2,1)

© 1, -2, -1)

@ 1,2, -1)
. TF Fe-amg & we # frafafem w
ﬁﬂ(iﬁﬂ'ﬂ'{:

1. T fag & ufa: s-ampf, a0 &

IR fog & = 2
2. U @1 & URa: oer-3mel, T
aftw ofir & $$
&

sqﬁ?sam‘iﬁ%aﬁwg&@tw-ﬁﬂﬁ
/% ? Q\Q

() %A 1 QQ

(b) Faw 2

(c) 1 3 2 gl

(d Fa1,TE2

feelt wfewr. 7 ¥ fomg,

T DFxD)+F-DEx) 7 k) @Fx k)
fepers saR 2

0

b) 7
() 27
@ 37

RRAN-B-MTH - A
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70. 7 #Hforg 4 aRemr F @ wfew 7 ok

B’aﬁw%qiama%,ﬁr“&’aﬁtz’?
o S & RO TR ?

@
(b)
©

(d)

Al &3 w|y |y

71.AM R 3 (x) AR y(x) Fawhe

wteR %n A ow 1R
y1(0) =0 3R py(0)=4, T Tl y)(x)
Wyz(x)%ﬂﬁ%ﬁﬁgﬁ'ﬁiﬁm
fopaett 8 2

(a) % fog e

() T fig

() @ fog

d) @ fagat & e

72.‘q'ﬁiy=e’(acosx+bsinx)ﬁﬁaaﬁ'(b

Qs IR ¢, & FEf| =3 9@
Jaehel THIGT ©

a—+2 0
()_dx y=

d*y ,dy
254294550
(b) 2 f )

dy
© dx? i

(d) '&;'2-+y=0
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67.

68.

69.

If a vector of magnitude 2 units makes
an angle% with 27, % with3f and an
acute angle @ with 41?:, then what are
the components of the vector ?

@ (1,+2,1)
®) (1, -2, 1)
© @, -2, -1
@ (1,2, -1

Consider the following in respect of
moment of a force :

1. The moment of force about a
point is independent of point of
application of force.

2. The moment of a force t a

line is a vector quantitg\\

%
Which of the statem given above
is/are correct ? @

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

For any vector 7, what is
- DEXD+F DX +F-B(Px k)
equal to ?
...)
(@ 0
) 7
(c) 2r
@ 37

70. Let o and 7; are two vectors of

71.

72.

magnitude 4 inclined at an angle 1;—,'

then what is the angle between

— -
a and a—-b ?

(a)

G

ol £ w3 NN

_
()
~—

(d

Lety(x) and y,(x) be two solutions of

dy

the differential equation v x. I

¥1(0) = 0 and y,(0) = 4, then what is the
number of points of intersection of the
curves y(x) and y,(x) ?

(a) No point

(b)
(©)
(d)

One point
Two points
More than two points

The differential equation, representing
the curve y = €*(a cosx + b sinx) where
a and b are arbitrary constants, is

(2)

(b)

(©)

(d)

2
%+2y=0
dzy

-dx’—f+2%+2y=0

A — RRAN-B-MTH
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73. 3¢ fx)=ax—b IR gx)=cx+d T

74.

75.

R € & few)=g(/(x),
frafafea & & - a8 2 7

@ f(d)=g(b)

() f(b) + g(d)=0

(©) f(a)+g(c)=2a

(d) f(d)+ g(b)=2d

1
I_i(3sinx—sin3x)ms2xdx foraas

K © 7
@ -5
®) 0 ;
&
2 N
03 N
&
1 @Q
@ S
Faehel THIRTI
p ) 06 d2
{z—(zy] } -3 & ww: iR

3R ura w®m g ?
@) 2,2
(b) 2,3
©) 5,2
@ 2,5

RRAN-B-MTH - A
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76.

77.

78.

79.

R Lo2ey, 0= @

B |

4y%(2 —e*) former SRR B ?
(@ 1
(b) 2
(c) 3
d 4

WFﬁﬁFQp=ff(x)dxaﬂi

g j” (Ol 2 1 2 e =,

frrafafea & & So-wr wet & ?
(@ p=2q

() p=+q

(), 4p=¢g

@ p=q

a+sinx

dx fras =R

2
.L 2a+sinx+cosx

&
(a)

(S [ T N

(b)

© 1
d 0

b & 98 FOR "F F7 & Fae foo

16x° 2 .
Feld —3 —4bx* +xHT x> 0 IRER #

4 @ sfteaw w9 R 3R 7 & TEaw
HH R ?

(@ 0<b<1

(b) 1<b<2

(c) b>2

@ 0<b<l1
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74.

75.

If f(x)=ax—b and g(x)=cx+d are
such that f(g(x)) = g(f(x)), then which

one of the following holds ?
@) f(d)=g®)

(b) f(b) + g(d)=0

(©) fla)+ glc)=2a

(d) f(d) + g(b)=2d

1 p 3
What is J_I(BSlnx — sin3x) cos’xdx
equal to ?

1

(a) A
(b) 0

| §<\Q® .
© 5 NS

\Q‘Z)-
@Q

1 3

@ 5

What are the order and degree respec-
tively of the differential equation

Download all NOTES and PAPERS at StudentSuvidha.com

76.

1

If %:29@{ y(O):% then what is
4y%(2 - €*) equal to ?

(@ 1

(b) 2

(¢ 3

(@) 4

b b
Let p——».[ f(x)dx and ¢ =I Lf(x)]dx.
If f(x)=e™, then which" one of the

- following is correct ?

78.

79.

@ p=29
®) p=+g
(©) . 4p=g¢q
@.r=q
. % a+sinx

iy 5 .[o 2a+sinx+cosxdx =
to ?
@ 7

/4
(b) 3
() 1
@ o

The non-negative values of b for
3

which the function L —4bx* + x has

neither maximum nor minimum in the
range x > 0 is

(a) 0<b<l1

(b) 1<b<2

(c) b>2

(d 0=sb<l1

A — RRAN-B-MTH
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5 10

- 80. f(x)”W;[—=x IR g(x) m
% wedl # frafafea # S=-wr @&
R?

@) fx) T B Wid € IR g(x)
FE wid TE °

(b) flx) 1 HE Wid T B AR g(x)
H TS WA T

(©) f(x) IR glx) & Wid THEAN §
(@) f() 3 g(x) T W i T &

FR AW A @ (02) Wemwi F ferw

ﬁﬂﬁf@ﬁﬂﬁi’l’(ﬁﬁq

a1 AT f(x) =——; (x>1)

Inx’

83. f=forfaa ot w e $ifs .
L. f(x) H (e, ©) ¥ It &
2. f(x) FA (1, e)H GEAA ®

3. 9In7 > 7In9
Iyt wEAEl H A AN-8 we R ?

oI A @ (02) vt ¥ (2) F LR 2
frafafes «w fmw $ifso . (b) Fae 2 3K 3
four T & 5 3005x+4sinxd]’z=® (c) ¥« 1 3 3
2cosx+5sinx Q
Lo ‘(\_ @ 1,233
—+—In|2cos@smx|+c
29 29 )
Q\Q 84. fr=forfaa sot w e $ifsme .
81. o & | FT %%Q$
Nene
@) 7 . flle=g
(b) 13 2. f(x), x =e W ®IMYG FAGH A
©) 17 WIH &Rl &
(d) 26 3. f(x) & ST FEaH A7 e ®

82. B & WA FT T ? ST FAA # A BA-A WS ?

@ 7 (a) et 1 3R 2
®) 13 (b) et 2 3R 3
() 17 (c) ¥ae 1 &K 3
(d) 26 d 1,23R3
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80. Which one of the following is correct

in respect of f(x)= |x?—x and
1
= ?
g(x) T=x-|x|

(@) f(x) has some domain and g(x) has
no domain

(b) f(x) has no domain and g(x) has
some domain

(¢) fix) and g(x) have the same
domain

(d) f(x) and g(x) do not have any
domain

Consider the following for the next two (02)
items that follow :

3003x+4sinx

Given that P
2cosx+5sinx

E+E~In|2c@+55mx|+c
81. What is the value& a?
(@ 7
(®) 13
(c) 17

Q
Q
§<\

@ 26

82. What is the value of §?
(@ 7

(b) 13

(c) 17

(d) 26

31

Consider the following for the next two (02)
items that follow :

Let f(x)=—; (x>1)

83. Consider the following statements :

1. f{x) is increasing in the interval
(e, @)

2. f(x) is decreasing in the interval

(1, e
3. 9In7 > 7In9

Which of the statements given above
are correct ?

(a) 1 and 2 only
(b). 2 and 3 only
(c) 1 and 3 only
d 1, 2 and 3

. Consider the following statements :

L /@)=~

2. f(x) attains local minimum value
atx=e

3. A local minimum value of f(x)
is e

Which of the statements given above
are correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

) 1,2 and 3
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W IW A @ (02) wwmwt F fau ITdeh A H A FE-8 TR € 7

fFrafefe w fem A (@) ¥ 1 AR 2
W?ﬁﬁqé’rmaf(x)aﬂig(x)savflm% o e
P T e
85. o[ f(x) — 3x] foFas s=R ® ? d 1,23R3
(a) i’—-% 88. lim h(x)+ lim h(x) fFeds st R 7
X x—0- x>0+
1
® x4+ @ -
i, 1
gt ® —5
1
A o
86. /"(x) foress a—R © 7 >
& 1
@ -~ o ;
xz &6 IR I T™ R (02) yEN ¥ fom
®) 2245 Q\@} freafafea w famr Fifemg :
(c) 6x+3 @ ¥ M T @(a) = r+woﬁsinx|dx
@ 6x a
I I A @ ((o2), ve & g 89. p(a) foresh JTR R ?
frrafafea w e $ifsg - (@) 0
qA T fx)=|x|+1 IR gx) =[x]-1, (b) a
et [] Aftrerem quife wed ® | (©) 100a
d) 200
qH Fﬁ&l‘ih(x)=-f-(i) @

g(x)

'90. '(a) ToFad s B 7
¢, Breifofe wd wo P Bl - v'a)

@ 0

1. f(x) @t x < 0 & fo sraeerta @ )
2. g(x), x=0-0001 W Fd § (© 100
3. g(x) T x =25 R Ia@es 1 B (d) 200

RRAN-B-MTH - A 32

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Consider the following for the next two (02) Which of the statements given above
items that follow : are correct ?

Let f(x) and g(x) be two functions such that (@) 1 and 2 only

(b) 2 and 3 only

1 o
g(x)=x—— and fog(x)=x"-—.
x x3 () 1 and 3 only

85. What is g f(x) - 3x] equal to ? (d) 1,2 and3
y 3
X 88. What is lim h(x)+ lim h(x) equal
x—0- x—0+
to ?
b) xP+-
> X 3
1 @ =3
© x*-—
& 1
®) —5
d) ;.c2+i2 2
X
©%
86. What is /"(x) equal to ? 2
® -5 | d 3
2 6% '
(b) 2x+= N Consider the following for the next two (02)
x Q\Q% items that follow : '
+
) Seh2 @ a+100m
(d) 6x Let ¢(a) = |smx|dx
a
Consider the following for the next two (02) :
items that follow : 89. What is ¢(a) equal to ?
Let f(x) =|x| + 1 and g(%) = [x] - 1, where [.] @ 0
is the greatest integer function. () a
Eokpl) fx) (c) 100a
g(x) (d) 200
87. Consider the following statements : 90. What is ¢'(a) equal to ?
1. f(x) is differentiable for all x < 0 @ 0
2. g(x) is continuous at x = 0-0001 (b) =
3. The derivative of g(x) at x=2-5 (& 10
is 1 (d) 200
33 A — RRAN-B-MTH
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I FW oA q (02) wwwi F fog ) 0
frafafes w fer fifv:

1
d -
TF FadeAId Bl f(x) B ST e i

A x=0WR § | 2
BREGPOLS SR IEY 94.J'0h(x)dx%1ﬁiw%?
91. Freferfem # & a-w1/aw-¥ wé !
t/% 7 i
1. f(0)=0 e
2. f"(0) <0 :
N for v e w AT W @ TR @ 3
gf :
(@) Fae 1 AWM FW A qr(02) wwwi & fog
i B 3 it Pk ffre:
dx
© 13k 23 R N e R L
@ TN T2 Hayd 4o
92. Frferfe 3 3 ey B wmy w1 0> @ W AR MR
x=0waﬁfﬁ$aﬁaﬁﬂ§§§? @ 1
@ a>0,6=0 I 3
) T b 3R =0 T o=
© ¥ wh 550 % frg e
@ & a 3R b=03F g %
d e
I AN T A (02) www F frg s
frrafofee w fmr $ifng . 96. B HF ¥ & ?
A\ T f(x) = |x - 1], gx) =[x] 3R 2
h(x) = f(x)g(x) STt [] Afteam quife wem (8} =
?1 {
(b) pre
93. [ hx)dx fores awra @ 7 1
: (c) 3
@ -3 ¥ 2
() -1 3
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Consider the following for the next two (02)
items that follow :

A differentiable function f(x) has a local
maximum at x = 0. Let y = 2f(x) + ax - b.

91. Which of the following is/are correct ?
1. f(0)=0
2. f"0)<0

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

92. The function y has a relative maxima
at x=0 for
~
(@ a>0,b=0 N

N
(b) for all b and a-\@

(c) for all b > @u

(d) for all @ and =0

Consider the following for the next two (02)
items that follow :

Let f(x)=|x— 1|, g(x) = [x] and
h(x)= f(x)g(x) where [.] is greatest integer
function.

0
93. What is Llh(x)dx equal to ?

(a
(b -1
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() 0
ol
@ 5
94. What is I;h(x)dx equal to ?

(a

(b) -1
(c) O

1
(d) 2

Consider the following for the next two (02)
items that follow :

>
=a(x+1)2 +

o
B(x-1)2 +c
95, What is the value of a ?

KYe
¢ A+ —Vx—1

@

(b)
(©)

(d)

= Wl W=

W

96. What is the value of 8 ?
LG

(a)
®)
©

(d)

Wi W=
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AW W G @ (02) s & feg
frmfafes w faur ifsg

T2+ 2 2x = 0T, X@T y=x TRT q Gt
# famfa form mar ® | W <ifoie 4,, 4,
FAN: G 3R WY Gl & &A% ¢ |

97. A, WH FT § ?

x=2
=

N
&+
R

(b)

®) 1 &
(c) -1 @

@ -n

FA W A d(02) weiet & feg
frafafes w faer $ifv

A Hifwe 3f(x)+f(3 =%+1

99. f(x) ferae aTeR ® 7

@ 5o+

1
4
el R
®) 8 4
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100.

101.

© —+Z¥-
@ =2+

sj’lzf(x)dxﬁm%a SR R ?
(a) IH(SN/;)

(b) !n(fhfz)

(c) In2
d in2-1

T T WS FEA AR 4G W T | T
afth agfFes &1 @ o W fwemr
21 wilear @ 6 3 W R @
T 7 ?

1
(a) 5

13
®) 108

4
(c) 9
5
(d) T

102. 7f§ w& ARfees =R (x) foug siet =

e Far ¢ fmer @ 5 oEk

WO 4 § 3R 5BpY=3)=2r4" @
AH WM HT % ?

(@) 3

(b) 5

{c) 23

) 25
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Consider the following for the next two (02) S
items that follow : © 8x +§ +Z
The circle x>+ y*—2x =0 is partitioned by 3 1
line y=x in two segments. Let 4;, 4, be (d) o e
the areas of major and minor segments S50 4
respectively. : -

2
100. What is 8 L f(x)dx equal to ?
97. What is the value of 4, ?

(a) zn(sJE)

n-2
@ 7
() In(4e)
m+2
iy == © In2
d Imh2-1
© -2
C
_ 4 101. A bag contains 5 black and 4 white
balls. . A man selects two balls at
@ 3n+2 random. What is the probability that
4 both of these are of the same colour ?
98. What is the value of ik ? ¥
A - g@ @ ¢
@ = S 5
®) 1 $Q\ ® Tos
$
(@ -l 4
@ -n © 3
Consider the following for the next two (02) () e
items that follow : 18
Let 3/(x)+ f(_l,J L 102.1f a random variable (x) follows
xX) X binomial distribution with mean 5
and variance 4, and 52P(X = 3) =4,
99. What is f(x) equal to ? then what is the value of A ?
% _£+1 (a 3
@ 3372 ®) 5
3= ivise (c) 23
R A
8x 8 4 (d) 25
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103.

104.

105.

- (©

106.

T (4, 1), (-1,2), 2, DI G, 1) "
yﬁxﬂWi@Ty:a+bxﬁTﬂ
& St R, A 2a+ 1SHH A TR ?
(@) 6
() 1
() 17
@ 21

"Tﬁ?-ﬁﬁ'q,r+2y+l=03ﬁ'{
2x+3y+4=0 T GIBET @Y § S
it fe=x 3o @ ofwferm & € 2
afe 0 31 A & W EEw 7, @
488tan30 & T T § ?

(@) 191

“(b) 161

) 131
@ 121

afe @ agfes | X #R Y "@&y

2E-3 Ly @§ﬁm

5X +4Y

(ﬂ”{ltﬁﬁ)wl%@@‘Q =% Ay
e R 7

810

361

&

19

21

361

121
361

(a)

(b)

(d)

1 1
+_
b-a b-c

uﬁa,b,cHPﬁ%,Eﬁ
feraes s © 7
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107.

108.

Q= o

|-

+

1(1 1 1]

. S e s o

2vd~b e

A Ry 17 Fe¢ w FEN W & IN
(a) e 1

(b) T 2

(c) ¥ae 3

@ 1,233

TF @R o WRAR AR auf # 150,
200,250, 300 9T wfer wiex Hit & K
forar @ | WA +ifoT  9R ant § U
yiar 3 whead s gam afs 9
w® @H &, oo & Wia wex sEa g
Tt § (sre) @ g ?

(a) 210

(b) 220
() 230
(d) 240

afe e “TIRUPATI” & Uit (31&Ri)
F agfeos w9 F forar s, @ F:&
wirar ® & Q9 T 7AW &FaR
HTq ?

(2)
(b)
(c)

(d)

Bl= NI Bl =
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103.

104.

105.

106.

From data (-4, 1), (-1, 2), (2,7) and
(3, 1), the regression line of y on x is
obtained as y = a + bx, then what is the
value of 2a + 15b ?

(@) 6
(b) 11
(c) 17
d 21

Let x+2y+1=0 and 2x+3y+4=0
are two lines of regression computed
from some bivariate data. If 0 is the
acute angle between them, then what is
the value of 488tan36 ?

(a) 191
(b) 161
() 131
@ 121

If two random variables X ancg’ are
connected by relation
K\Q

2X-3Y .
=4 and X follpws’ Binomiial
SX +4Y an (8] %@‘ 1nonnii

distribution with

ers n =10 and

p=%, then whah?the variance of Y ?

810
361

LS
19

2
361

121
361

(a)

(b)

(©

(d)

If a, b, ¢ are in HP, then what is

: +L equal to ?

b-a b-c

107.

108.

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only.
(c) 3 only
(d 1,2 and 3

An edible oil is sold at the rates 150,
200, 250, 300 rupees per litre in four
consecutive years. Assuming that an
equal amount of money is spent on oil
by a family in every year during these
years, what is the average price of oil
in rupees (approximately) per litre ?
(a) 210

(b) 220

(c) 230

(d) 240

If the letters of the word “TIRUPATI”
are written down at random, then what
is the probability that both Ts are
always consecutive ?

(@)

B |

(®)

(©)

(d)

’;l,_. e R e
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109. A T m=77" ® | A& n H

agfeas &9 ¥ o9 quidm wW fen
STt ® | 4 Wit ® foh om & WA A

THE & WM W 1 AT ?

B | =

(a)

W | -

®)
1
© 3
1
@ 5

110. 9get 15 gFqul wEAmE # & oW fire

Tem agfees w9 ¥ A 9 ¥
Lo IR B C A S e H
TUERS SE AT & ?
S

1 N

@' &
O

2
®) 755

1
© o5

6
@ 755

IR I T @ (02) v & fow
frrafafea w famr i

A AT 4 3R B 3 ¥ W WER §
P(AUB) = 0-75 3K 0-125 < P(ANB) < 0-375

R

RRAN-B-MTH - A

111. P(4) + P(B) & Taa® WF T § ?
(@) 0625
(b) 0-750
(c) 0-825
(d) 0875

112. P(4) + P(B) & flews wF #1 & ?
(a) 075
(b) 1-125
©) 1375
(d) 1-625

IR SN NE X (02) wemat ¥ fom
frafofea w fmr $ifso

A, B 3R C &9 wead =W WeR § &
P(4) = 0-6, P(B) = 0-4, P(C) = 05, P(AUB) =
0-8, P(ANC) = 03 3R P(ANBNC) = 02 R
P(AUBUC) = 0-85.
113. P(BNC) & “FqH A F1 & ?

(@ 01

(b) 02

(c) 035

(d) 045

114. P(BNC) &1 HAftehaw w14 7 8 ?
(a) 01
(b) 02
(c) 035
(d) 045
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109. Let m =77". The index n is given a 111. What is the minimum value of
positive integral value at random. What P(A) + P(B) ?
is the probability that the value of m

will have 1 in the units place ? (a) 0-625
(b) 0-750
(a) % (c) 0825
(d) 0-875
® 3 112. What is the maximum value of
7 P(4)+ P(B) ?
1 (a) 0-75
i 4 (b) 1-125
1 (c) 1375
@ n (d) 1-625

Consider the following for the next two (02)

110. Three different numbers are selected at B
items that follow :

random from the first 15 natural
numbers. What is the probability that A, B and C are three events such that
the product of two of the nung&s 1s P(4) = 0-6, P(B) = 0-4, P(C) = 0-5, P(AUB) =

equal to third number ? §<\ 0-8, P(ANC) = 03 and P(ANBNC) =02 and
N P(AUBUC) = 0-85.
1 Q\@*
@ 91 N 113. What is the minimum value of
Q P(BNC) ?
2 01
i @
() 02
i ) 035
©) &
(d) 045
@ ooR 114. What is the maximum value of
455 P(BNC) ?
(a) 0-1
Consider the following for the next two (02) b) 02
items that follow : ®) 0
Let A and B be two events such that (©) 035
P(AUB) = 0-75 and 0-125 < P(ANB) < 0-375. d) 045
41 A — RRAN-B-MTH
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AWM W al @ (02) wymwi & form
frefafea = fmr $ifso

s fia R Y n 9 o ST © |
F Y FH OTEH oA IH e IR p o
R & & oA o o AW B Wil ¢ ®

3ﬁTP—q=%%l

115. n & A9 &7 § ?
() 4
() 5
() 6
@ 7

116. p+¢q & |9 41 & ?

57
32
53
32

51
(©) E%)

@ 1
T I A B (02) i ¥ R
e e o

1 2 3 n
2—-1 2—2 . 2—(n—1)

(a)

()

X

fi 1

17. Y, f; foreeh s & ?

hid R L)

2!3—1
2R+l —f— 2
2!1"‘1

(a)

(b)

RRAN-B-MTH - A
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2t 2
2?!"‘1

©

2R+1_n_2

2?!

(d)

118. Sc & HIET FT © 7
gl g0

2" -1
2H+1_n_2

2]!—1
2ﬂ+1_-n_2

2" &1
WA +2

28

(a)

(®)

©

(d)

AW A d(02) wwwi & fag
freafafa ) ek it
wiferdht € qder # 10 3 gro ww B

T 3 24, 47, 18, 32, 19, 15, 21, 35, 50 AR
41 € |

119. §a8 & 919 W&ol & Hed e |
g?
(a) 48
(b) 55
(c) 6
(d 75

120. T98 &3 9™ WEAVI T FEOT HT € ?
(a) 14-6
(b) 21-8
(c) 25:2
(d) 468
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Consider the following for the next two (02)
items that follow :

An unbiased coin is tossed n times. The

probability of getting at least one tail is p

and the probability of at least two tails
5

isqandp—q=§.

115. What is the value of n ?
(a) 4
®) 5
() 6
d 7
116. What is the value of p+ ¢ ?

57
(2) )

53
® 3 N
51 (§)

©). =
32
N\
@ 1 $

Consider the following for the next two (02)
items that follow :

1 2 3 n
1 2—1 2—2 2—(::—1)

X

i

117. What is )''x; f; equal to ?

* 2

(a) 2H—|

21’!‘1’1_"_2

(b) 2n—1

Download all NOTES and PAPERS at StudentSuvidha.com

e S

(C) 2ﬂ-l

28+] _"_2

@ o

118. What is the mean of the distribution ?

g )

s

2ﬂ+l_n_2

(b) 2n—l

2!l+l_n_2

© %2

Q™ 42

(d) o

Consider the following for the next two (02)
items that follow :

The marks obtained by 10 students in a
Statistics test are 24, 47, 18, 32, 19, 15, 21,
35, 50 and 41.

119. What is the mean deviation of the
largest five observations ?

(a) 48

(®) 55

(c) 6

(d 75

120. What is the variance of the largest five

observations ?

(a) 146

(b) 218

(c) 252

(d) 468
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : RRAN-B-MTH : Test Booklet Series
TEST BOOKLET
MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION; YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE 'I‘EST
BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

4. This Test Booklet contains 120 i:§ (questions). Each item is printed both in Hindi and English.

Each item comprises four re (answers).. You will select the response which you want to
mark on the Answer Sheet. e you feel that there is more than one correct response, mark the
response which you cons e best. In any case, choose OINLY ONE response for each item.

5. You have to mark all &ponses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.(\

6. Al items carry

7. Before you proceed to ma.rk in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate:

8. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong Answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE
IN THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(ii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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